Toward a Sustainable Agriculture, Module IV, Section C, 

Agroecology of Horticultural Crops


Follow up discussion questions to Trial by Water Activity  

What does test 1 measure?  

Infiltration, or the ability of different soils to absorb water.   
Why is infiltration important?  

Soils with the capacity to absorb water, rather than letting it run off, will have it available for plants to use later.  

When soils can absorb water rather than letting it run off, the chance of flooding is reduced. 
When soils can absorb the rain falling on them, they are less likely to erode.  Erosion causes loss of soil quality and nutrients and also causes water pollution.  

Why do some soils have higher infiltration capacities than others?  

A number of factors affect the ability of soils to absorb water, including soil texture and structure.  Management and organic matter content can affect soil structure.  Ask the students to explain the differences in infiltration between their samples.  
What does test 2 measure?  

The stability of soil aggregates in water.  

Why is the stability of soil aggregates important?  

Soil aggregates are critical to good soil tilth, which allows movement of water and air and growth of plant roots through the soil.  

Why are some soil aggregates more stable than others?  

Organic matter content and soil biological activity are two key factors affecting the stability of soil aggregates.  Certain soil organisms emit sticky substances that help bind soil particles together into stable aggregates.  

Why do some soils have more stable aggregates than others?  

Both soil texture and management affect organic matter content and soil biological activity, and therefore aggregate stability.  Ask the students to explain the differences in aggregate stability between their samples taking into consideration both soil type and management.  
